R&5F

FEIEIR

BH)

g | xp | PEEN | 1xm | BEER

MWXEFRE 1Z7t 1744.7 5.9
FE—redk 1Z7T 49.3 29
EZrl 1z 554.4 14.7
FE=rml 127t 1141.0 25
HUELE TAlEhHE 1Z7T 18.0
#EEEHIEIEINE 1z 314
HUELLE Tl =55 % 934 -3.8 96.2 -8.7
AL E TV RERER(1- ER) 127t 101.5 -4.7
R E T RIFRSE(1- EB) 1Z7T 176.0 1.3
EERFIR 1z 11.2 2.7
# TV EEEF=IR 1z -103 0.8
#EMFFIRIGR 1z 33.9 8.2
BB HEEER B¥EHH 788 -3.2 138.8 -10.9
HSHERTELA 1z 867.9 6.2
PRELA EHERTER 1Z7t 136.9 31.9 4228 5.4
#M LR EE 1Z7t 30.5 -11.5 104.3 -6.4
SCRRFIRRSME (FESSEBOER) 2%t 1.0 2605680 10.4 -72.8
FHEOSE 23T 16.8 -4.3 46.1 -10.4
HO 2%t 6.1 -5.9 16.5 -16.1
#O 2%t 10.8 -3.4 29.6 -6.9




BH)
g | xR | FEER g | BHEK
HHOSER 1z 114.6 1.6 317.0 -3.5
HO 1z 415 1.3 1134 94
#O 1zt 73.1 1.8 203.6 0.2
—RRAFFAEUN 127t 62.4 73 235.3 76
#EUBTBIN 1z 413 -192 166.4 -6.6
—RAHTE T H 1z 1186 224 288.2 6.8
SRR INHERRER 1z 21 405.0 7.8
SRR EFRRER 1z 21154.0 7.3
SHtEFHBE {ZF Bt 36.3 7.8 111.0 2.9
#Tol {ZF Bt 165  49.0 47.0 17.4
#iE {ZF Bt 10.6 3.0 28.2 -2.0
R=EE palt 1577.9 24.1 4176.6 10.2
#ERERIT I PaLLt 43.3 72,5 120.1 49.0
Nz yerie] pal 15340 231 4055.0 9.3
2RERAYIEIZEA 7T 12 509 29
IER R AR TR 7T 13 666 2.6
KA ERAIIRT TR 7T 8190 4.4
EERHEENISEIEE % 100.1 101.2
HEBRIEHENSIEER(LER) % 100.5
“FHEEHEMEIER(LR) % 100.3
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